—log10(P-value)

=
o

[e¢]

P S ——
AP3M1
o] ——
AP3M1
L ——
RP11-178G16.5
AP3M1
CAMK2G
NDST2
ZSWIMB-AS1
ZSWIM8
CHCHD1
BMS1P4 @O
SYNPO2L
AGAPS C100rf11 [ 1]
Msss1 ADK ) LQci01929234
ANXA7 PLAU | FSDS—ASZ
T FUT11
MRI SEC24C COMTD1
DNAJC9-AS1 ADI VDAC2 C10orfll [ ]
DN, GLUD1P3 ! SAMD8 Cl10orf1l [ ]
FAM149B1 cloorfs5 Q/ L DUSP13 C10orf11 [ 1

PP3CB
NUDT13 %Ozl [}

ECD KAT6B C100rf11
ﬁ Gt
P4HAL 3 usps4 3 ZNF503-AS1 (G VS SR s ——

. . b o
: ™ b 2
v'-‘#'-'—-.m- w YS.

[ ! 1
75 76 77 78 79

chr 10 physical position (MB)



